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DIRECTTONS s
Do not open this booklet until you are told to do so.

This iz a test of your competence in high school algebra. For each
problem there are listed 5 possible answers. You are to work the problems,
deterstine the correct gnswer, and indicate your choice by making a heavy
black mark in the correct place on the separate answer sheet provided. A

sample follows:

1. 1f 2x = 3, then x equals?

(1 2) 3 (3 &

2
g 1.
3 (%) none of these.

(4)

The correct answer for the pamplie problem ie gw, which is answer (&);
80 you would answer this problem by making a heavwy“black wark under space 4
ag indicated above.

If you should change your amind about an answer, be sure to evase completely.
Avold wild guessing, as wrong snswers count againgt you. Do not mark more than
ohe answer for any problem. Make no stray wmarks of any kind on your answer sheet,

When told to do so, open your test booklet to page 2 and begin. When you
have finished one page, go on to the next. The working time for the entire test
is 80 minutes.






1.

) 0
(5> 2,

2. The factors of 502 . Gac « 15ab + 18bc ave?
{1} (a ~ 3b) (5a + 6c)
{2) (5a - 3b) (a - 2¢)

3 Ca + 3b) (52 - 6¢)

H

(4) <(a ~ 3b) (5a -~ 6¢)}

{5) none of these,

=2 ey 2 )
3. When (2}35 + (3) * %(x ) 7 i8 simplified, its value is:

(1 1
X
@ 3¥3
) 9 '
1
() 5
3

(5)

4, If a<p3i =2 + 3bi, where i is the imaginary unit, then (a,b) =
(1) (2,3)
2y (2,1
(3) (b,a)
() (2,-3)

5) (2,2).
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10.

11“

3
If the poiante A(-10., -2) and B{~=2, 10) are given, then the coordinates of
the widpoint of the line segment AB aret

(1) (ml&y --6)m (2) (WSpﬁ) (3) (53 “6) (“) ("”69 !‘!") (5) (“‘4—; 6)9

One factoxr of Iﬁx“ + 7x2yz + yhh is:

(1) 822 + 92 (2) #x® v xy -y (3) Bxf mxy -yt ) 2ty (5) 4y .

szg - 2232 4 4 gimplifies to:
(1) x¥ e+ x-2
(2) 2 -x? 2

1 i 2
(3 ;J(x - 1) 4+ 4
) x2 = 1

x

{5) none of these.

if x = L, y= 1~ %, and r = 1 + - 1 5 then x equals:
(L r -1
(2) B
g - 1
(3) 8%
&
) el
LR
(5) s.

If the ovder of the digits of a two-digit base ten numeral is veversed, the
resulting nuwber is & less than twice the original number. If the sum of the
digits is 13, the number ia:

(1) a9 {23 76 (33 85 (&) 67 (3) 58.

Given £(x) = %% ~ 1 and glx) = "%%é%%ma The numerical value of f[éﬁé%é]iﬁi

(1) 3 (2) =2 (3) -3 (4 8 (85) “z?r"

i (- x)* - 6(x2 « x} = 0, x equeln:
(1) 3, «2 (2) =3, 2 (3) 0,1, -2,3 (4) 0,1,2, ~3 (5) none of these.

Xy ¢ Vz-



12.

13,

14,

15,

6.

17,

18,

i

Only one of the following sete L8 closed with vespect to addition, sub-

traction, anitiplication, and division (except
£1) The sat of natural nusebers

{2} <%he set of integers

{3) ‘fthe set of Irvaticmal numbers
(&) the set of real numbers
€5) the set of whole numbers.
-g o+ b o+ Mo
A solution {a,b,c) of the systmngia + 3b + Be
a + 2b ¢+ fe
(1) (1,-3,1) (23 (-1,-2,1) (3) (2,-2,1)
The roots of the equation x + \FZ?m G ares
(1) =1,1 €23 1,0 (3 0 (&) 1,1 %)

by 0), Which one 1s i¢?

B O% o
oo Q
o
[

iy (1,1,03 (5} nowe of thess,

w2,2.

The aum of the infinite progressiony 2, 0.2, 0.02, 0,002, ... iss

2y 2o ey W2 w3 sy 2.2,

10
’ Y o Z . P
The cuvves represented by + ¢* o= 25 and x

{ry 2

(1)
(2)

ne pointa in Cowaon
four pointz in common
three points in common
twe points in common

none of these.

w 3y = 1 hawve:

tne train traveling 5 miles sn bour faster than another frsin veguives 24

minvtas less time o travel 180 miles.

(1} &4 mph and S wph

(2) 40 mph snd 45 mph
(3) =45 wph and -50 wmph
(4) 45 mph and 50 mph
(5) -4 mph and -9 mph.

2

The graph of x° + 9y% - 6xy - 9 = 0 is at

(3) parabola (i)

(1) ecircle (2) ellipse

The vrates of the trainsg ave:

hyperbola (5) patr of parallel

1lines.
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19. The graphs of the functions y = 2* and y o= Iogzx

1) intersect when x is infinitely large

(2) do not intersect

(3) intersect in a gingle point

{8y intersect inm exsetly two polonts

(5) iantersect in an {nfinite number of points.
20, It 1032x3 e 2 loggx - 1, the walue of x Isg

i

2 1
(13 § ) 1 (3) -4 (h);; (3) 5

21, If &, B, ¢, and d ave gelected from the set of watural nesbsrs and %@'% .

then which of the following statements f{s not trme?

(1y &+b ¢ + d
b < d

m ggate
b éih)* d

8 + @ <
(33 b+ d Q’E
(8) a + b(d) > ble + 4)

{5y &.- d a = b .
7 g

22, The coovdinates of the vertex of the parsbola y = xz + 6y ave:
) {6,000 (2> (-3, «9)  (3) 3,9y {4y (0,03 (5} (1,7,

23, If the lines 3x + by = 6 and ax + 2y = 8 ave parallel, then the product ab
8 the value of:

(1) -6 (2) =1 (3) 6 (W 1 (5) g»

28, If {x - Z)ZJLIH then the solution set is:
(1) 0&€xd2
(2) xp2
(3) 2 4 x
)y z-2£€2
(5) 04 x4&h.
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25. The solution set of [2x + 3] 2 5 is:

(1) =t £x &1
(2) -t &x&1

(3) = ®lorxdg -4
(4) ¥ 21 snd x& -4

€5) x =1 and x £ 4.

26. 'The square root of 0.0000016 is:

wll wall -3 o 3
{1} & x 104 {23 0.4 x 10 3y 4 % 10 (i) \EL& x 10 {53 gloﬁ x 10 .

27. The #th term of an arithmetic progression fe 7 and the 9th term is 22. The
15tk term Iss
i} 24 (2) &0 (3) 32 (4) 3¢ (8) 14,
28, If the greatest comwon divisor of a and b is ¢ then the least common multiple
of g and b g3
M e @ & @ 2w 26y
2%. Which one of the following statements concerning inequalities is not always true?
(1) If & 3» b, then aun » bun,
(2)- it & p b, then 8 ~ n» b ~ n.
(3 ¥£ap b, then a + 0 P b + n.

(4) 1£ aP b, then 8% 2, if ny 0.
1} i}

() 1t ady, then 232, 1rng o0,
39, If only one of the following is not a property of an equivalence relation,
which is ig?
(1) pymmetric
(2) transitive
€3) infinitive
{4) veflexive

{5} wnone of these ig a property of an equivalence relation.
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31. 'The set of resl numbers for which j3x - Ig &, 5 is:
b
i o
(1 =% s
(2} xg?2
(3) -2 g‘x@%

() “.3‘?:.@::42
{5) noune of these,

3. REf{x) = &xz *bx+ e 20 for all real x then the graph of the function
intersects tha x-axis fn:
{1) no point
£2) two distinet points
€3} &t most one point
{4} exactly one point
%} at iesst ome point.

33. If twelve distinct points in the plane save jocated so that mo three are
collinesr, how wmany different quadeilaterals (not necessarily convex) way be
formed uvsing any four of them sa verticaes?

(1) 12 (2) 1n4 (3) 1320 (8) &4 (53 495,

3h. The middle term of [}m§ﬂ§§ -3 \”%h 6 isy
(1) 160x (2 =160 (3) -20% (&Y 20 (5y 120,

35. I¥ a cuble equation, with veal scefficients, has a voot of 3 - i and if the
product of the roota is -5, then the real root is:

13-4 @ s @ F w s o k.



36,

az.

38,

A box contains

w red balls and

n white balls, One ball {s drawn at

vandom, {ts color is noted and then it is placed back in the box. Then

& gecona ball is dvawn at random. What is the probability that the two

balla are of different colors?

(1)

{2)

(3

(4)

P
-
Nt

Given
(n

(2)

it

m2+ n2
2mn

(m + n)

Zom
2
m2 + n

mn
(o + n)?

2mn
m+n
2

Bx® + v +

D=0 and * = ED, Tha roots are renl if:

F {8 positive

¥ is inaginary

F o
I A

BB = C

The solution of 1ha gvstem, 2x2

coordinates of iheg

(L)
(2}
€3
(4
(3)

2

- 392 = 5 and 322 « 2y° = 30 are the

iwo peintg of intersection of a line and a circie

four npoints
four pointe
four points

four points

of int~rsection
of intersection
of intersection

of intergection

of an ellipse and a civecle
of two ellipses
of two hyperbolas

of a parabola and an ellipse.
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39. One root of the equation X - 6%+ 9x -2 =0 is,

(1) 3

(2) =2

(3 -2 -3

m 1+ N2

(5 2+ \r?
0. The surface area of a sphere varies as the gquare of the radius, and volume

of a sphere varies as the cube of its radiua. If the surface area of the

sphere is trebled, then the volume is multiplied by:

1y ¥3

(2) 3
(3) 3y3
ay 9

{5) none of these.









